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MATH 234
QUIZ 1

Student f\'nmo:‘%w\ gtudent Number:

Question 1

(1 poiut’each) Answer by true or false:

2
m of linear equations is undetermined, then it must have infinitely many solutions.
/

E If X = b is an dverdetermined and conslstenf- linear system, then it must
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ave infinitely many
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have a nontrivial solution.

row’echelon form, then it is also in reduced row echelon form.

4. _L If a matrix i§ j

._F The method of £olving a linear system by, reducing its augmented matrix to reduced row ectielon
form is called Gaussian/elimination.

t

Question 2 (2 points each ) Circle the most correct answer:

O .
L. If (A]b) = |: -11 -1|0 } is the augmented matrix of the system Ax = b. Answer the following

-1 0 a|B 6 O
questions.
Q«-o‘ =O
(a) The system has go solutiorﬁif n A _Q, ‘ -‘L

=—2and B # -1
ﬁ# -

ii. a=-2and f =

iii. a# -2 a

iv. a#—2and f=-1

(b) The system has exactly one solufi o if
i, o=-2and f=-1

jii. oo =%=2

iv. a# —2and B # -1

(c) The system has infinitely many solugiéns if
i a#—-2and f# -1
i, a=-2and g # -1
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and/

—2and B = —
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Question 2 (9 points)UseO solve the system
no %ol
.dmﬂe@? o A b o ot sl :
=i -y — o + 4x3 — =34 =6
3 M'p"“\' —2:511 - JAzy) + Tz - @ =1 @
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